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Deen, Analysis of Transport Phenomena

Erratafor First and Second Printings

.40 Inthe energy equation for spherical coordinatesin Table 2-2,

.43 Inlastlineof text,"b=pH" should read "b = pl:|

.78 InEq. (3.2-22), y should be Y.

.82 InEg. (3.3-7),"Bi << 1" not "Bi >> 1."

.87 InEq. (3.4-7), second equation, “dC/dX" not “ dC/dX.”

. 129 In Problem 3-22(b), Da = ké?/D , not KLZ/D .

. 138 In Eq. (4.2-18), middle term of second line, change"©," to " 6."
. 162 In Eq. (4.5-73), sin(nzy/b) should be sin(mmy/b).

. 163 Inlast line of Eq. (4.5-78), (n7)2 should be (nn/a)2.

. 163 In Eq. (4.5-79), (mn)? should be (mza/b)2.

. 163 EQ. (4.5-81) should read

2
dd(;);m — [(n / a)* +(m/ b)z]nz@nm =0 .

. 163 In Eq. (4.5-83), 6, should be O, (two places).
. 164 EQ. (4.5-84) should read

_2yab

sinh{[(n/ a)’+(m/ b)z]l/znz}

On(2) [1-(-"[2- (-D"]

nmr?

sinh{[(n/ a)’ +(m/ b)z]llznc}
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p. 164 Eg. (4.5-85) should read

Mx

3

h{[(n/ a)’+(m/ b)z]mnz} sin( mx)sin( mny)
b

Xy :Ei i
’ - nm g h{[(n/a) (m/b)z]llznc} a

1
n odd

i

d

p. 185 In Eq. (4.8-59), bold “V.”
p. 188 In Eq. (4.9-17), add missing right-hand bracket in first exponential, so that it reads

—[x2+y?+(z+L)?]/4Dt

2.2 2
[ —[x“+y“+(z-L)“]/4Dt +e

m
Cx,y,zt) = ——==

( y ) 8(”Dt)3/2
p. 222 In each equation of Table 5-1, the last term on the left-hand side should be of the form

V,0V/dz, not v,ovi/ot. There are several other errorsin the last equation, which should read

N, o |or, dr, or,
=pg, - T+ XLy
oz | X o oz

N, N, N
p| =F+V, =2 +V, ==
o x Yoy oz

p. 227 In Table 5-5 the expression for 7, , should read

S TN
o =T =M T T )T T g0

. 231 InTable 5-10, ®=(2)2 - (2/3)(V-V)2, not d=(2I)2.
. 234 Inthe text immediately above Eq. (5.7-7), change “Eqg. (A.8-30)” to “Eq. (A.8-29).”
. 236 In the text immediately above Eqg. (5.7-11), change “Eq. (5.7-11)" to “Eq. (5.7-9).”
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. 237 Line5, "Eq. (A.8-24)" not "Eq. (A .8-25)."
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p. 242 Equation (5.9-13d) should be

E’y = —(rsinf)w,

p. 249 Inthefirst line of Problem 5-2, part (b), delete "or axisymmetric." That is, the equation in
part (b) isvalid only for planar flows.

. 250 In the equation in Problem 5-7(b), “dr/dt” not “dr/dr.”

. 276 Replace last period by hyphen in labels of Egs. (6.6-35), (6.6-38), and (6.6-39).

. 296 In Eq. (7.3-10), "9/or" not "d/dr."
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. 301 Include aminus sign on the right-hand side of Eq. (7.4-18), such that

v,(0) = —(ﬂ%@_l{g(%—e)éne —90059}
. 308 In Eq. (7.5-1), change bold to italic delta, so that last term reads &(r)F.
. 334 InEq. (8.2-4), insert v so that the left sidereadsv - (v - Vv).

. 338 Threelines above Eg. (8.2-20), “ P / dy” not “ 8@5837. ”

. 338 Oneline below Eq. (8.2-20), * O(6%)” not “ O(5).”

. 354 Line 11 of text: "Eq. (8.4-33)" not "Eq. (8.3-33)."

. 360 Line 2, “EqQ. (8.5-21)" not Eq. (8.5-22).”

. 361 Eg. (8.5-28), first symbol in numerator should be “p” not “p.”
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. 361 Threelinesfrom bottom, add primeto last term in text equation, so that it reads
“(ff) =ff7 + (f )2
p. 362 Two lines below Eqg. (8.5-41), “Eq. (8.5-41)" not “Eq. (8.5-40).”

p. 365 Problem 8-4(d), line 2, “separation” not “stagnation.”
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p. 366 Problem 8-6(a), insert minus sign in first equation, such that

w(r,2)=-vz°F(n)
p. 368 Thelast differential equation in Problem 8-9(b) should read

G”"-2FG-HG =0

p. 427 Equation (10.4-12) should be

1 1 Ky

© ~ 1O ©)
kNO kNO kNO

The text immediately below the equation should read:
"where Ky isthe liquid-to-gas concentration ratio at equilibrium (0.047 at 23°C).
Because the Péclet number islarge...”
p. 427 Thetext below Eqg. (10.4-15) should read:
"Together with the small vaue of K, thisindicates that the mass transfer resistance
inthe gasisnegligible. Thus, the overall mass transfer coefficient essentially equals
that in the liquid."
p. 486 In Eqg. (12.3-3), n = y/H not n = y/W.
p. 530 In the third line of Example 13.4-1, “(13.3-22)” not “(13.2-22).”
p. 535 Brackets are mismatched in Eqg. (13.4-39): there should be alarge square (not curved)
bracket immediately to the left of the equals sign.
p. 546 The complete list of authorsin the Sureshkumar referenceis:
"Sureshkumar, R., R. A. Handler, and A. N. Beris."
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p. 554 InEq. (A.2-6),"t-T'=."not"t=1'=.."

p. 565 In Egs. (A.5-4) and (A.5-5), "dS' not "ds."

p. 566 In Eqg. (A.5-10), “dV” should be in italics (two places).

p. 574 One line below Eq. (A.7-30c), “Eq. (A.7-30)" not “Eq. (A.6-30).”
p. 577 Changethelast derivativein Eq. (2) of Table A-4, such that

. 1 ov
—(v,sinB) + -
rsin 80(\/9 ) rsin@ dg

10
V'V:r—zg(rzvr)'i‘

p. 578 Insert e, at the end of Eq. (A.8-5), sothat it reads

B:%: (O)e +(De, +%:eZ .
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Deen, Analysis of Transport Phenomena

Errata for Third and Fourth Printings

. 129 In Problem 3-22(b), Da = ké?/D , not KLZ/D .

. 162 In Eq. (4.5-73), sin(nzy/b) should be sin(mzy/b).

. 163 Inlast line of Eq. (4.5-78), (n7)2 should be (nn/a)2.
. 163 In Eq. (4.5-79), (mn)? should be (mza/b)2.

. 163 EQ. (4.5-81) should read

2
dd(;);m — [(n / a)* +(m/ b)z]nz@nm =0 .

. 164 EQ. (4.5-84) should read

sinh{[(n/ a)® + (m/b)*] "z
233, ap e

(©)
m(2)= nm? sinh{[(n/ a)’+(m/ b)z]llznc}

. 164 EQ. (4.5-85) should read

16 ¢ o 1 S/a F MU
O(xy.z _F:zl' mZ‘_mg h{[(n/a)2+(m/b)2]l/2nc}sn( ”X)gn(mgy)

nodd modd

. 188 In Eq. (4.9-17), add missing right-hand bracket in first exponential, so that it reads

—[x2+y?+(z+L)?]/4Dt

2.2 2
[ —[x“+y“+(z-L)“]/4Dt +e

m
C(xy.zt)= 8D

. 231 InTable 5-10, ®=(2)2 - (2/3)(V-V)2, not d=(2I)2.
. 234 Inthe text immediately above Eqg. (5.7-7), change “Eq. (A.8-30)” to “Eq. (A.8-29).”
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. 250 In the equation in Problem 5-7(b), “dr/dt” not “dr/dr.”

. 276 Replace last period by hyphenin labels of Egs. (6.6-35), (6.6-38), and (6.6-39).
. 308 In Egq. (7.5-1), change bold to italic delta, so that last term reads &(r)F.

. 334 InEq. (8.2-4), insert v so that the left sidereads v - (v - Vv).

. 338 Threelines above Eq. (8.2-20), “ P /| ay” not “ 8@5837. ”

. 338 Oneline below Eq. (8.2-20), * O(6%)” not “ O(5).”

. 360 Line 2, “EqQ. (8.5-21)" not Eq. (8.5-22).”

. 361 Eqg. (8.5-28), first symbol in numerator should be “p” not “p.”
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. 361 Threelinesfrom bottom, add primeto last term in text equation, so that it reads
“(ff) = + (f )2

p. 362 Two lines below Eg. (8.5-41), “Eq. (8.5-41)" not “Eq. (8.5-40).”

p. 365 Problem 8-4(d), line 2, “separation” not “stagnation.”

p. 366 Problem 8-6(a), insert minus sign in first equation, such that

w(r,2)=-vz°F(n) .

p. 530 In the third line of Example 13.4-1, “(13.3-22)” not “(13.2-22).”

p. 535 Brackets are mismatched in Eqg. (13.4-39): there should be alarge square (not curved)
bracket immediately to the left of the equals sign.

p. 566 In Eqg. (A.5-10), “dV” should be in italics (two places).

p. 574 One line below Eq. (A.7-30c), “Eq. (A.7-30)" not “Eq. (A.6-30).”

p. 578 Thelast termin Eqg. (A.8-5) should read

oF oF
e, not

¥ e,
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Erratafor Fifth Printing

p. 129 In Problem 3-22(b), Da= k&/D , not KLZ/D ,.
p. 188 In Eq. (4.9-17), add missing right-hand bracket in first exponential, so that it reads

C(xy,zt)=

[e—[x2+y2+(z— L)?]/4Dt + e—[x2+y2+(z+ L)?]/4Dt

_m
8(nDt)%?

p. 231 In Table 5-10, ®=(2I")2 - (2/3)(V-v)2, not ®=(2T)2.

p. 234 In the text immediately above Eq. (5.7-7), change “Eq. (A.8-30)” to “Eqg. (A.8-29).”
p. 308 In Eq. (7.5-1), change bold to italic delta, so that last term reads &(r )F.

p. 334 In Eq. (8.2-4), insert v so that the left sidereadsv - (v - Vv).

p. 366 Problem 8-6(a), insert minus sign in first equation, such that

w(r,2)=-vz"F(n) .



